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Question Number : 1 Question Id : 50521228029 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following principle suggests that different body parts develop at different rates at

various stages of development?

Options :

1. Development is unidimensional.

2. Development is unidirectional.

3. Development is a discontinuous process.

4. Direction of development is proximodistal and cephalocaudal

Question Number : 1 Question Id : 50521228029 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 50521228030 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is correct?

Options :

1. Children's development takes place in a socio-cultural context.
2. Childhood is a period that can be divided into 10 distinct stages.
3. Children's thinking is not influenced by social interactions.

4. Children's development is solely determined by genetics.

Question Number : 2 Question Id : 50521228030 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

9 O 8- FUF TE 29

Options :

5 ~ ~ SO . =, Eoegte.
1 S==1 hl Tdh1d Tsh HIHISh-J=hdH ﬂitﬁ&‘a? G %’|

, TS I Tt 2 T 10 = srawenet 9 aier 5w 2

3 S==71 T 91 9IS o7 T3haT © TTfas 72t = 2

. =1 T (9T Fa ?mgciﬁermm T AT 2T 2



Question Number : 3 Question Id : 50521228031 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The process of predetermined unfolding of genetic dispositions is called -
Options :

1. adaptation.

2. learning.

3. socialization.

4. maturation.

Question Number : 3 Question Id : 50521228031 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 50521228032 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

is a primary and is a secondary agent of socialization.
Options :

1. family, school



2. media , family
3. school, media

4. media, neighbourhood

Question Number : 4 Question Id : 50521228032 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 50521228033 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to Lawrence Kohlberg , what is the primary basis for 7-8 year old children's moral
decision ?

Options :

1. Social order maintenance

2. Social - contract maintenance

3. Punishment and obedience

4. Universal Ethical Principal



Question Number : 5 Question Id : 50521228033 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 50521228034 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Seriation in Jean's Piaget's theory refers to -

Options:

1. the ability to order objects based on one dimension, for example 'length'.
2. the ability to take the perspective of others.

3. a narrative form of thinking as used in story telling.

4. the ability to spatially map places, like ones’' school.

Question Number : 6 Question Id : 50521228034 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 50521228035 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Naseema, a 5 year old is certain that rolling out a ball of clay into a snake creates more clay.

According to Jean Piaget what is the reasoning behind her thinking?
Options :

1. Animistic thinking

2. Centration

3. Hypothetic - deductive reasoning

4. Transitive Inference

Question Number : 7 Question Id : 50521228035 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 50521228036 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Len Vygotsky offered a theory of cognitive development along the principal of —
Options :

1. social constructivism.

2. behaviourism.

3. psychoanalysis.

4. universalism.

Question Number : 8 Question Id : 50521228036 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 50521228037 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is the term used by Len Vygotsky to describe child's act of speaking to
herself?

Options :

1. Private speech
2. Talk aloud

3. Scaffolding

4. Ego-centricism

Question Number : 9 Question Id : 50521228037 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 50521228038 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following characterizes a progressive classroom?



Options :

1. Focus on drill and practice

2. Ability-based fixed segregation
3. Collaborative Learning

4. Use of rewards and punishment

Question Number : 10 Question Id : 50521228038 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 50521228039 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A child has the ability to understand the intentions and desires of others. The child has :
Options :

1. Spatial intelligence

2. Interpersonal intelligence

3. Intrapersonal intelligence

4. Naturalistic intelligence



Question Number : 11 Question Id : 50521228039 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 50521228040 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is proposed in National Education Policy 2020?
Options :

1. Being educated in one's mother tongue is detrimental to educational and technological
advancements.

2. Schools should encourage children to learn and speak English as their first language.
3. Multilingualism has great cognitive benefits for young students.

4. Bilingual approach confuses students and hampers learning.

Question Number : 12 Question Id : 50521228040 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 50521228041 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Gender roles are —

Options :

1. learned behaviour.

2. inmate behaviour.

3. biological constructions.

4. genetically determined.

Question Number : 13 Question Id : 50521228041 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 14 Question Id : 50521228042 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The primary goal of continuous and comprehensive evaluation is -

Options :

1. to compare students' performance with one author.

2. to assess children's understanding and modify the curriculum and pedagogy for students.
3. to assign ranks to students as per their performance.

4. to declare students as 'pass' or 'fail' in particular subjects.

Question Number : 14 Question Id : 50521228042 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 50521228043 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Before deciding an assessment method for her class, what all should the teacher keep in mind?
(i) Who is going to use the results beside me ?

(ii)) What is the best way to find out learning curves of individual students ?

(iii) Which method would help me to reflect on my pedagogy ?

(iv) Which method would help to label and segregate students ?
Options :

1. (i) (i) (iii)

2. (i) (iv)

3. (ii) (iii) (iv)

4. (i) (ii)

Question Number : 15 Question Id : 50521228043 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 50521228044 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Inclusive education implies that

Options :

1. EWS (Economically Weaker Section) quota be made available only in government schools.
2. Students with disabilities should be placed in special schools only.

3. Only English be taught in government schools.

4. All children, irrespective of their abilities be provided quality education.

Question Number : 16 Question Id : 50521228044 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 50521228045 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A) - While teaching, a teacher should use a variety of ways to represent the context of

teaching.
Reason (R) - Teachers need to adapt their pedagogy to suit the diverse needs of learners.

Choose the correct option.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 17 Question Id : 50521228045 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 18 Question Id : 50521228046 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A child is facing regular difficulty in writing. She also experiences a challenge in formation of
alphabets and spacing of words. These characteristics hints towards which of the following
learning disability?

Options :

1. Dyslexia

2. Dysgraphia

3. Dyscalculia

4. Attention Deficit Hyperactivity Disorder

Question Number : 18 Question Id : 50521228046 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 50521228047 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

To cater to individual differences among the students, a teacher should -

Options :

1. use standardized instructional methods and uniform ways of assessment.

2. use a variety of pedagogical approaches and mean of assessment.

3. use uniform pedagogy to ensure memorization and focus on summative assessment.

4. increase the number of paper-pencil tests and focus on recall.

Question Number : 19 Question Id : 50521228047 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 50521228048 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following is an essential characteristic of creativity?

Options :



1. Divergent thinking
2. Impulsiveness
3. Centration in thought

4. Convergent thinking

Question Number : 20 Question Id : 50521228048 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 50521228049 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Young children construct knowledge and make meanings through
(i) Active exploration

(ii) Play

(iii) Active on materials and experimenting

(iv) Interaction with peers and adults



Options :

1. (i), (iii)
2. (i), (i), (iv)
3. (i), (ii), (iii)

4. (i), (i), (iii), (iv)

Question Number : 21 Question Id : 50521228049 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 50521228050 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

To help children memorise the phone numbers, a teacher suggested students to divide 10 digits
of phone number into 3- 4 smaller units and then remember. The strategy suggested by the

teacher here is called-



Options :

1. chunking.

2. encoding.

3. assimilation.

4. adaptation.

Question Number : 22 Question Id : 50521228050 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 50521228051 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following form of learning should be emphasised most in schools?
Options :

1. Acquiring different skills and knowledge through interaction with surroundings
2. Rate-memorizing the content

3. Passive imitation of others

4. Conditioning of behaviours through stimulus - response association



Question Number : 23 Question Id : 50521228051 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 50521228052 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following set exemplify a social constructivist approach to facilitate reading among

students?

(i) Salma uses flash cards to help students learn new words and rewards them with candy for

correct responses.

(i) Pramati has her students choose from a variety of books to read. Those students who read a

particular book are made to discuss the book on a regular basis.

(iii) Arundhati emphasise the importance of using contextual material to help determine the

meaning of new words.

(iv) Rekha has her students write each word they miss on a spelling test five times to help them



remember the word.
Options:

1.(i), (iv)

2. (i), (iii)

3. (ii), (iii)

4. (i), (ii)

Question Number : 24 Question Id : 50521228052 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 50521228053 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



As a teacher how can you facilitate problem solving abilities in your students?
Options:

1. Generating fear amongst your students.

2. Encouraging a fixed way of solving problem.

3. Encouraging use of analysis.

4. Emphasising on use of passive memorisation strategies.

Question Number : 25 Question Id : 50521228053 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 50521228054 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following will result in facilitation of meaningful learning?
Options :

1. Promoting de-contextualised learning in the classroom.

2. Encouraging multiple ways of working at a problem.

3. Encouraging rote learning.



4. Copying answers written by the teacher on the blackboard.

Question Number : 26 Question Id : 50521228054 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 50521228055 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Students are likely to experience the emotion of when they attribute internal factors

to explain their success at a task.
Options :

1. shame

2. anger

3. pride

4. anxiety

Question Number : 27 Question Id : 50521228055 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 28 Question Id : 50521228056 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

At primary level of education, use of multi- sensory approach should be encouraged because -
Options :

1. it makes learning more effective.

2. it gives opportunities to exclude certain children from education.

3. it saves lot of instruction time of teacher.

4. it yields to docility among children.

Question Number : 28 Question Id : 50521228056 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 29 Question Id : 50521228057 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Children often form alternative conceptions and misconceptions about various concepts. Which of

the following statement is NOT correct in this context?

Options:

1. Alternative conceptions and misconceptions formed by students should be highly discouraged
by the teacher.

2. Formation of alternative conceptions and misconceptions is very natural among children as well

as adults.

3. A teacher should definitely attend to these alternative conceptions and misconceptions as they

are significant in process of teaching- learning.

4. Alternative conceptions and misconceptions are not always baseless rather these represent

children's intuitive ideas about world around them.

Question Number : 29 Question Id : 50521228057 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 30 Question Id : 50521228058 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

view of learning explains that tangible incentives and rewards motivate students for

leaning.
Options :

1. Humanistic
2. Behavioural
3. Cognitive

4. Socio-Cultural

Question Number : 30 Question Id : 50521228058 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 31 Question Id : 50521228059 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

.3 ; 2 ;
In a school there are 96 teachers, out of which - th teaches High school classes. If; th of the High school teachers are
Mathematics teachers, then the number of Higﬁ school teachers who don't teach Mathematics are:

Options :
1. 36



Question Number : 31 Question Id : 50521228059 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
7. 36

Question Number : 32 Question Id : 50521228060 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
1 2 4. |
Sl
2 3 5
Options :

13



39

19

Question Number : 32 Question Id : 50521228060 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

-2

Options :
13
1. 30

39

19
4. 30

Question Number : 33 Question Id : 50521228061 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is the difference between the face value of the number 7 in the numbers 4782 and 32170.

Options :

1. 630



2. 112

4. 770

Question Number : 33 Question Id : 50521228061 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

HEAT 4782 3R 32170 F 7 3 HTeha o1 o o1 o0 77 47 2
Options :

1. 630

4. 170

Question Number : 34 Question Id : 50521228062 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is not true for the set of whole numbers?
Options:
1. a+b=5b+a

2 a—b=b—a

3 aXxb=bXa



g (@atb)tc=a+(b+c)

Question Number : 34 Question Id : 50521228062 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.a+b=b+a

> a—b=b-a
3 axb=bxa

4.[a—b}+s:=a+{|:)—r.:]

Question Number : 35 Question Id : 50521228063 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

When asked to divide a number by 6, Rani has divided it by 9 and she got the quotient as 21 and remainder as 3.
Realising her mistake, later she divided it by 6. What will be the quotient and remainder?

Options:
1. Quotient — 31, Remainder-0
2. Quotient — 31, Remainder-3

3 Quotient — 32, Remainder-3

4. Quotient — 32, Remainder-0



Question Number : 35 Question Id : 50521228063 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

| VTTEE-3 1, -0

, HETH 31, STHF-3

5 WITHH-32, ITFA-3

5 WTTHE-32, ITHA-0

Question Number : 36 Question Id : 50521228064 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is a pair of ‘like fractions’?

Options :

[
=
=
=

I

[
P
=
=

I



Question Number : 36 Question Id : 50521228064 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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1. 3 2

Question Number : 37 Question Id : 50521228065 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following numbers are not perfect cubes?
Options :
1. 729

5> 1000

3. 333



4 216

Question Number : 37 Question Id : 50521228065 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 38 Question Id : 50521228066 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Shikha went to a brick kiln to buy bricks. The rate of the bricks was 2500 rupees per one thousand bricks. How many
bricks can she buy if she has only 4000 rupees?

Options :

1. 10000

5> 1600

3. 16000

4. 4000



Question Number : 38 Question Id : 50521228066 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1. 10000

5 1600
3. 16000

4. 4000

Question Number : 39 Question Id : 50521228067 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Mini told her teacher ‘| made a rectangle whose each side is 4 crm’.
Which of the following statements is correct:

Options:
1. Arectangle cannot have all sides equal.
2. All squares are rectangle

3. All rectangles are square

4 There is no link between a square and a rectangle.



Question Number : 39 Question Id : 50521228067 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 40 Question Id : 50521228068 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The angles of a triangle are in the ratio 4;5:6. What will be the measure of the angles of the triangle?
Options:

1. 507, 60°, 70°

o 45°% 60°, 75°

3 48°,60°,72°

4 52°,60°, 68°



Question Number : 40 Question Id : 50521228068 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:

| 50°,60° 70°

45°. 60°,75°
48°, 60°, 72°

52°. 60°, 68°

Question Number : 41 Question Id : 50521228069 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ragini reaches the station at 2:00 in the afternoon. She has to take a train to Aligarh. There are four trains. Train A,
Train B, Train C, Train D scheduled for departure at 17:05, 4:32, 18:30 and 19:15 respectively.
Which train must she take so that she spends minimum amount of time waiting for the train?

Options :
1. Train A
2. Train B

3. TrainC

4. Train D

Question Number : 41 Question Id : 50521228069 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T 298 & 2 o9 RS T 3| T8 SFATE 3 TofT YTl o 2] ST T Tt A, Tee) B, Tee)
C, T D 3 28 1 9 A 17:05, 04:32, 18:30 3T 19:15 2| 36 0751 ) ot e, 1% 36 7
3 T 3 oA ST T 0%

Options :

'I." EI_A

. T B

Question Number : 42 Question Id : 50521228070 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Rita is a ward-member of her area; she wishes to create a community room of size 11 feet x 16 feet. To lay tiles on the
floor she has four options: 1.5 feet x 1.5 feet, 2 feet x 2 feet, 2.5 feet x 2.5 feet, 3 feet x 3 feet.
Which size of tile should she buy for the community room, so that she can lay the tiles without cutting?

Options :
1. 1.5 feet x 1.5 feet
2. 2feetx 2 feet

3. 2.5feet x 2.5 feet

4. 3feetx 3 feet



Question Number : 42 Question Id : 50521228070 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1 1.5®E % 1.5%E

2. EEEEXE‘:EIE
3 25®Ex25FE

4. 3ERE 3R

Question Number : 43 Question Id : 50521228071 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ms Renu divided her students into groups of 8 each and asked them to record their weights. She further asked the
groups to calculate the mean weight of their respective group. Group A (which consists of 8 students) measured their
weights and calculated the mean weights as 38.2 kg. Later on they realized that the weight of one of the student they
recorded is incorrect. Instead of 25.9 kg, they recorded it as 29.5 kg.

What will be the correct mean for the group?

Options :
1. 37.75kg
5 38.65kg

3 37.2kg

4 38.9kg



Question Number : 43 Question Id : 50521228071 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1 37.75 &,

, 38.65 T
5 372 R

4 38.9T®m.

Question Number : 44 Question Id : 50521228072 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Observe the following pattern and select the next term:
(9-1)+8=1

(98-2)+-8=12

(987-3)+-8=123

(9876 —4) + 8§=1234

Options :
1. (98765—-5) = 8=123456

, (9876—4)+8=12345



3 (98765-4)+8=12345

4 (98765-5)+8=12345

Question Number : 44 Question Id : 50521228072 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

=1 few 7m0 U = ST IS 271 2377 U faraT:
(9-1)+8=1

(98-2)=8=12

(987 -3)+-8=123

(9876 —-4)+-8=1234

Options:

1 (98765 -5 )+ 8=123456

, (9876 -4)+8=12345

3 (98765—4)+8=12345

4 (98765-5)+8=12345

Question Number : 45 Question Id : 50521228073 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Priyanshu has currency notes of 10 and X20. She uses 2 notes of 20 and 1 note of X10 to form 350. How many other
combinations are possible to form the same amount using both the currency notes? You can ignore the spatial
arrangements of the currency notes.



Options :
1. 0

Question Number : 45 Question Id : 50521228073 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1. 0

[

Question Number : 46 Question Id : 50521228074 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Following are four questions posed by a mathematics teacher. Which of the following is an open-ended question?

Options :



1. If sum of two numbers is 15 and one of them is 7, what will be the other number?
2. If the age of Anil is 7 years and his father’s age is 5 times more than that of Anil’s age. What will be the age of father?
3. If sum of two numbers is 17, then what are the numbers?

4. What should be added to 17 to get 23?7

Question Number : 46 Question Id : 50521228074 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 47 Question Id : 50521228075 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher uses the following riddle in the class while developing the concept of place value ‘| am less than 5 tens and 4
ones’

The objective of this riddle is to

Options :



1. Do a summative assessment.

o Break the monotony of a mathematics class.
3 Ask close ended guestions on place value.

4. Reinforce the concept of base 10 and place value.

Question Number : 47 Question Id : 50521228075 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 48 Question Id : 50521228076 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which among the following is/ are the objective/objectives of teaching ‘shapes’ at Primary class.
(a) To develop visualisation skill

(b) To memorise the names of geometrical shapes

(c) To enhance spatial reasoning ability

Options :
1. (a) and (b)

2. (a) and (c)
3. (b) and (c)

4. Only (b)

Question Number : 48 Question Id : 50521228076 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id : 50521228077 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following teaching-learning resources in mathematics can be used for visually challenged students?
(a) Geoboard
(b) Geogehra
(c) Abacus
(d) Graphic calculator
Choose the correct option.

Options :
1. (a) and (d)

2. (a) and (c)
3. (b)and (d)

4. (a), (b) and (d)

Question Number : 49 Question Id : 50521228077 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

(a) FR (b)

1.

(a) 3T (c)
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~(b) 3R (d)

3

4. (), (b) 3R (d)

Question Number : 50 Question Id : 50521228078 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

While teaching ‘geometrical shapes’ a teacher thinks of planning a trip to historical places. It reflects:
Options :

1 Field trips have been recommended by CBSE, so they must be done
o A good break from routine mathematics class and an opportunity to visit the historical places.
3. Shapes are an integral part of any architecture and such trips encourage mathematics beyond classroom.

4. Teacher has completed most of the syllabus well in time and now needs to provide leisure.

Question Number : 50 Question Id : 50521228078 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 50521228079 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A primary class mathematics teacher poses the following question to his students:
“Reena and Shama went to a shop to buy a bag. There were many bags with different price tags. They got confused by

looking at so many price tags. Can you help them by arranging the price tags either in ascending or descending order™?
BAG-A-> 4732,

BAG-B-> 2364,
BAG-C- 21934,
BAG-D- 23475,
BAG-E5 22937,
BAG-F- 23004,

In the given context, which of the following statements is true?
Options :

1. Only the concepts of ascending and descending order can be strengthened using the question,

The teacher can use the question to go beyond comparison of numbers and introduce the concept of data handling
o and sorting of data.

3 It is not a mathematical question as it does not involve basic operations on numbers.

4. The teacher should avoid bringing contextual questions into the classroom.

Question Number : 51 Question Id : 50521228079 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 52 Question Id : 50521228080 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to National Curriculum Framework 2005, which of the following represents the vision of a mathematics
classroom?

Options :

1 Students memorizing the formulae



o Teacher as the only narrator in the class
3. Students copying solved examples from the textbook

4. Children posing and solving meaningful problems in the classroom

Question Number : 52 Question Id : 50521228080 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 50521228081 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is true for ‘Anecdotal Records’ as an assessment tool in mathematics?
Options :

1 It includes the project and field work done by the child



5 It is use to record and judge the quality of a child’s work against a specified criteria
3 It records the presence or absence of a particular skill or process

g 1t includes written description of a child's progress on a day to day basis and provides observational narrative records

Question Number : 53 Question Id : 50521228081 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 50521228082 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Aclass IIl teacher introduces the multiplication in her class using repeated addition and rectangular arrays. She is
Options:

1 Introducing multiplication through informal strategies by utilising the previous knowledge and experiences of students.

2. Teaching multiple formal algorithms of multiplication.



3. Wasting a lot of time and should focus on teaching formal algorithm anly.

4. Finding leisure time for herself by keeping the students engaged.

Question Number : 54 Question Id : 50521228082 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 50521228083 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A child is counting the number of balls by putting a finger on the balls one by one and saying number names in order.
She has counted some balls twice. Which pre number concept is yet to be strengthened in the child?

Options :

1 One-to-one correspo ndence

2. Seriation



3. Classification

4. Cardinality

Question Number : 55 Question Id : 50521228083 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 50521228084 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Misconceptions in mathematics can be removed by
Options :
1. Engaging children with examples and non-examples

o Framing similar questions and repeating them many times

3. Lot of practice and drill of guestions



4. Demonstrating the algorithm again

Question Number : 56 Question Id : 50521228084 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 50521228085 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ms. Romi in her mathematics class asks her students to create appropriate situations for following computations:
(i), 1042 (i) 20x2 (iii) 10-2 (iv) 102
Which of the following statements is correct about the pedagogy used by Ms. Romi?

Options :
1. She is testing the problem solving skills of student by giving mixed set of problems

2. She is testing the language proficiency of students

3 She is trying to help students to develop mathematical statements and problem solving skills



4. Sheis trying to maintain discipline in her class by giving some task to the students

Question Number : 57 Question Id : 50521228085 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 50521228086 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements are indicative of higher aims of teaching mathematics?

(a) Mathematics education should turn out employable adults who contribute to economic and social
development.

(b) Mathematics education should develop child's inner resources like abstract thinking and drawing logical
conclusions

(c) Children should see mathematics as a way of life like communicating, discussing and developing atfitude for
problem solving

(d) Mathematics education should focus on factual knowledge and procedural fluency

Options :



. (a) and (c)

—

. (b)and (c)

N

. (c) and (d)

w

_ (b ) and (d)

D

Question Number : 58 Question Id : 50521228086 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

(a) 3R (c)
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2
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3
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Question Number : 59 Question Id : 50521228087 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to Newman, there are five levels to be undertaken before a student is able to solve a word problem. They
are listed below in a random order.

(a) Comprehend what the task is asking.

(b) Must be able to read the question.

(c) Undertake the necessary mathematical operations

(d) Need to translate the problems into mathematical demands.

(e) Represent the answer as a meaningful construct.
Which of the following represents the correct order of levels?

Options :
1. (b), (@), (c), (d), (e)

5 (b), (d), (a), (c), ()
5. (a), (b), (e), (¢}, (d)

4 (b), (@), (d), (0), (e)

Question Number : 59 Question Id : 50521228087 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:

. (b, (@), (0), (d), (e)




2. (b}., {d} (a), (c), (e)
5 (). (b), (0), (©), (d)

4 (b),(a), (d), (c), (¢)

Question Number : 60 Question Id : 50521228088 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT desirable for the professional development of mathematics teachers?
Options :

1. Attending workshops and seminars on mathematics
5 Developing teaching-learning resources
3 Minimum interaction with other mathematics teachers working in same school or in neighbourhood schools.

4. Participating in faculty development programmes.

Question Number : 60 Question Id : 50521228088 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Environmental Studies

SectionId: 505212887
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30

Section Marks : 30

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 5052121615
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 50521228089 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The distance between Trivandrum and Gandhidham is 2268 kilometers. If a train covers this
distance in 42 hours, the average speed of the train in between the railway stations of these two

cities in metre per second is
Options :

1.54

2.30

3. 27



4.15

Question Number : 61 Question Id : 50521228089 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1. 54

2. 30

Question Number : 62 Question Id : 50521228090 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A student is at A and wants to reach at B. For this he first goes to O which is 120 m due north of A
and then he goes from O to B by covering a distance of A from B and the direction of A with

respect to B are respectively
Options :

1. 130 m; South-west

2. 130 m; South-east

3. 170 m; South-east

4. 170 m; South-west

Question Number : 62 Question Id : 50521228090 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 63 Question Id : 50521228091 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Select true statement about sloths from the following

Options :

1. Sloths look like bear and spend almost 22 hour a day sleeping while hanging upside down on a
tree branch

2. Sloths look like chimpanzee and spend almost 17 hours a day sleeping while hanging on a tree

branch

3. Sloths look like chimpanzee and spend almost 22 hours a day sleeping while hanging upside

down on a tree branch

4. Sloths look like bear and spend almost 17 hours a day sleeping while hanging upside down on a

tree branch

Question Number : 63 Question Id : 50521228091 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 64 Question Id : 50521228092 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

When you pour milk through a piece of cloth, cream remains on it. The method of separation here
is -

Options :

1. Filtration

2. Sieving

3. Sedimentation

4. Decantation

Question Number : 64 Question Id : 50521228092 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 65 Question Id : 50521228093 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

On the map of Galconda Fort given in the class V textbook, 1cm distance is equal to a distance of
110 metres on the ground. On this map the distance between Fateh Darwaja and Jamali Darwaja is

10.7 cm. On the ground, the minimum distance between the two would be
Options :

1.1.070 km

2.1.177 km

3.10.70 km

4.11.77 km

Question Number : 65 Question Id : 50521228093 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1. 1.070 km

o 1.177 km

3. 10.70 km



4 11.77 km

Question Number : 66 Question Id : 50521228094 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A group of three states having Bay of Bengal on one side is -
Options:

1. Andhra Pradesh, Maharashtra, Tamil Nadu

2. Odisha, Kerala, Tamil Nadu

3. Odisha, Andhra Pradesh, Tamil Nadu

4. Kerala, Karnataka, Tamil Nadu

Question Number : 66 Question Id : 50521228094 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 67 Question Id : 50521228095 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Suppose you are in Madhya Pradesh. With respect to this state the direction of our country’s

thickest forest is
Options :

1. Due North

2. North-East

3. North-West

4. South-West

Question Number : 67 Question Id : 50521228095 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 68 Question Id : 50521228096 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The height of the peak of Mount Everest is
Options :

1.8600 m



2.8850 m
3.8950 m

4. 8990 m

Question Number : 68 Question Id : 50521228096 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

HT3+2 UaiFe ohi TTe] ol e & —
Options :
1. 8600 m

2 8850 m
3. 8950 m

4. 8990 m

Question Number : 69 Question Id : 50521228097 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
A shooting star is a

Options:

1. Star

2. Comet

3. Meteor

4. Asteroid

Question Number : 69 Question Id : 50521228097 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Options :
1. AT

Question Number : 70 Question Id : 50521228098 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statements about the ‘Khejadi’ tree.

A. This tree is mainly found in desert areas.

B. This tree can grow without much water.

C. This tree stores water in its trunk which can be used for drinking when needed.

D. The bark of this tree is used for making medicine and its wood is not affected by insects.
E. This tree has very few leaves.

The correct statements are
Options :
1.A,Band D

2.A,Band C



3.B,Cand D

4. A,Cand E

Question Number : 70 Question Id : 50521228098 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 71 Question Id : 50521228099 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statement given by a student

“T have come from an area where rainfall is very scarce. It is very hot too. Our houses are made of
mud. The walls of the houses are very thick and also plastered with mud. The roofs are made of

thorny bushes.”



This student must be from a village of
Options :

1. Laddakh

2. Assam

3. Rajasthan

4. Uttar Pradesh

Question Number : 71 Question Id : 50521228099 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 72 Question Id : 50521228100 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statement made by a student while giving her introduction in a meeting;



“T am from a place where most of the people prefer to eat fish cooked in mustard oil.”

The student must be from
Options :

1. Goa

2. Kerala

3. Kashmir

4. Mizoram

Question Number : 72 Question Id : 50521228100 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 73 Question Id : 50521228101 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Select correct statement from the following

Options :



1. An adult elephant can eat more than 2 quintals (220kg) of green leaves and twigs in one day.
2. Because of their heavy weights most elephants like to take too much rest after eating.
3. Even a three-month-old baby elephant generally weighs about 200 kg.

4. On an average most elephants sleep for 9-10 hours in a day.

Question Number : 73 Question Id : 50521228101 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
At 5 & ¥81 o TH0 —
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Question Number : 74 Question Id : 50521228102 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Select the group which can be recycled after use.
Options :

1. Polythene Bag, Paper, Batteries, Mobile phones
2. Bedsheets, Newspaper, Plastic Bottle, Batteries

3. Iron nails, Glass Bottle, Steel Mug, Cardboard Box

4. Leather bag, Wooden table, Plastic Vase, Bedsheets



Question Number : 74 Question Id : 50521228102 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 75 Question Id : 50521228103 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Match the following

Column I Column II
(1)  Chholey-Bhature A. Goa
(1) Boiled tapioca B. Kerala

with curry made
using coconut

(111)  Fish cooked in C. Uttarakhand
mustard oil
(1v)  Sea fish cooked in D. Kashmir

coconut oil

E. Punjab

Options :

1. (i)-E, (ii)-D, (iii)-B, (iv)-A



2. (i)-C, (ii)-D, (iii)-B, (iv)-A
3. (i)-E, (ii)-A, (iii)-B, (iv)-D
4. (i)-E, (ii)-B, (iii)-D, (iv)-A

Question Number : 75 Question Id : 50521228103 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:

. (i)-E. (ii)-D, (iii)-B, (iv)-A
, (i)-C. (ii)-B, (ii)-D, (iv)-A

o (D)-E, (ii)-A, (iii)-B, (iv)-D

4. (D-E, (ii)-B, (iii)-D, (iv)-A

Question Number : 76 Question Id : 50521228104 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Select a suitable assessment task for class IV students of EVS.
Options:

1. Writing question answers of the chapter on floating and sinking.
2. Performing the activity to observe sinking and floating.

3. Explaining definition of floating and sinking.

4. Learning the list of objects which sank or floated.

Question Number : 76 Question Id : 50521228104 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 77 Question Id : 50521228105 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Art and craft should be integrated in EVS teaching, because it promotes

A. creativity



B. peer learning
C. discipline in the class

D. inclusion
Options :
1.Aand D
2.Aand B
3.A,Band C

4. A,Band D

Question Number : 77 Question Id : 50521228105 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 78 Question Id : 50521228106 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following strategy promotes inquiry while teaching the theme ‘Shelter’ to class IV

students?

Options :

1. Asking students to collect pictures of different types of houses

2. Sharing pictures of different types of shelters

3. Asking students to narrate their experiences of visiting different house construction sites

4. Showing a power point presentation of different shelters across the country

Question Number : 78 Question Id : 50521228106 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 79 Question Id : 50521228107 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

EVS the primary classes is a subject area which integrates
Options :

1. the concepts and issues of Science and Environmental Education



2. the concepts and issues of Social Science
3. the concepts and issues of Science and Social Science

4. the concepts and issues of Science, Social Studies and Environmental Education.

Question Number : 79 Question Id : 50521228107 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 80 Question Id : 50521228108 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is an objective of EVS at the primary level
Options :

1. To sensitise learners to issues related to gender discrimination

2. To develop simple models from locally available materials

3. To gradually prepare students for upper primary science concepts

4. To orient students towards occupational choices available in their locality

Question Number : 80 Question Id : 50521228108 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 81 Question Id : 50521228109 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher asks her students to consult their family members to find out the names of different

plant parts like roots, stem and flowers eaten as food. This activity is designed to
Options :

1. promote experiential learning

2. promote learning of concepts related to food

3. make the lesson more enjoyable and interesting

4. allow the students to discover about food freely

Question Number : 81 Question Id : 50521228109 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 82 Question Id : 50521228110 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following strategy of teaching EVS to the visually impaired student is most
appropriate?

Options :

1. Make a mixed peer group in class

2. Allow more time to finish a task

3. Break the tasks into parts and teach the parts separately

4. Use more of tactile teaching - learning materials

Question Number : 82 Question Id : 50521228110 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 83 Question Id : 50521228111 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The most appropriate stage of the lesson plan where students should be assessed while teaching

EVS is

Options :

1. At the end of the lesson

2. At the introduction of the assessed
3. When students wish to assessed

4. Over the course of teaching - learning

Question Number : 83 Question Id : 50521228111 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 84 Question Id : 50521228112 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

You have to assess your students’ EVS projects and give them quick feedback. Which assessment

tool will you choose?
Options :

1. Observation

2. Rating scale

3. Check-list

4. Peer assessment

Question Number : 84 Question Id : 50521228112 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 85 Question Id : 50521228113 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

The objective of assessment of EVS learning is that

Options:

1. teacher gathers information about the students’ achievement

2. itis a way of teaching rather than evaluation

3. it provides feedback about students’ progress in mastering new knowledge

4. it informs about students’ learning to provide support for the next step

Question Number : 85 Question Id : 50521228113 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 86 Question Id : 50521228114 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Primary classes (Classes I to V) will consist of which of the following stages according to NEP, 20207?

A. Preparatory Stage



B. Middle Stage

C. Foundational Stage
Options :

1. AOnly

2.B Only

3.A&C

4. B&C

Question Number : 86 Question Id : 50521228114 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 87 Question Id : 50521228115 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a process skill at primary level?



Options :

1. Mapping

2. Defining variables operationally
3. Testing Hypothesis

4. Recalling facts

Question Number : 87 Question Id : 50521228115 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 88 Question Id : 50521228116 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which is a sub-theme under the theme ‘Family and Friends'?
Options :

1. Things We Make and Do

2. Work and Play

3. Food and Water

4. Our Shelter



Question Number : 88 Question Id : 50521228116 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 89 Question Id : 50521228117 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of these is a divergent question a teacher of EVS will ask her students to promote
creativity?

Options :

1. What are the steps of harvesting onions starting from sowing onion seeds in the soil?
2. What step will you take to reduce air pollution in metro cities like Delhi?

3. How will you separate salt from salt solution?

4. Why leaves have green colour?

Question Number : 89 Question Id : 50521228117 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 90 Question Id : 50521228118 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The dynamic, holistic and experiential nature of EVS learning by students is best assessed by
Options:

1. Rating scale

2. Pen-paper Tests

3. Authentic Assessment strategies

4. Oral tests

Question Number : 90 Question Id : 50521228118 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Language I
SectionId: 505212888
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 17
Number of Questions to be attempted : 17
Section Marks : 30
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 5052121616
Question Shuffling Allowed : Yes

Question Id : 50521228119 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension



Directions: Read the extract given below and answer the questions
follow by selecting the correct / most appropriate options: Language
2

Field Studies Loss of Learning During the Pandemic (extract)
Studies across the world have clearly indicated that school closures
have significant negative impact on learning levels of children, with
children from disadvantaged backgrounds being affected more
severely. The loss of learning is not simply the curricular learning
that children would have acquired if schools had remained open. It
includes the ability that children have forgotten due to lack of usage,
for example the ability to read with understanding, the ability to
write, and the ability to perform basic mathematical operations like
addition and multiplication. This regression further compromises
new learning since these abilities are foundational to all further
learning. This situation must be juxtaposed with the fact that we are
already facing a crisis in learning, particularly with respect to
foundational literacy and numeracy. At the time of writing this
report, schools have been closed for almost an entire academic
year. A child who was in class 1 in March 2020 will move to class 3 in
2021 without having engaged with the curriculum of class 2, except
through sporadic online or community-based engagements. Thus,

the loss of learning during the pandemic comprises the ‘forgetting/
regression’ of a proportion of abilities children already knew,
including the loss of foundational abilities that make it possible for
children to take up further learning, and the absence of curricular
learning for an entire academic year. Examples of foundational
abilities would be the ability to read numbers up to 99 in class 2 that
forms the basis of performing more complex mathematical
operations in higher classes. Similarly, for children in class 2, the
ability to respond to comprehension questions based on a story
forms the basis for acquiring higher order abilities related to reading
and writing. The absence of any one of these foundational abilities
manifests not only in the inability to acquire more complex abilities,
but also in a disconnect from learning, peers and schooling, often
causing children to drop out of school altogether.

Sub questions

Question Number : 91 Question Id : 50521228120 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Pick the correct option to give the reason for negative
impact of pandemic on education

Assertion (A) School closures have significant negative
impact on learning levels of children.

Reasoning ( R) Children have forgotten previous learnings
due to lack of use and not learnt skills and competencies of
current curriculum.

(1) Both A and R are true and R is the correct
explanation of A

(2) Both A and R are true and R is not the correct
explanation of A

(3)Ais true and R is false

(4) Ais false and R is true

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 50521228121 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Complete the sentence by choosing the correct option.
Loss of learning during the pandemic refers to

lack of ability to do the assigned job
forgetting completely what one has learnt
lack of ability to read with understanding
4. lack of interest in studies.

W N

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 50521228122 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

When you ‘juxtapose’ two things what do you do?

(1) Simply place them opposite to each other.

(2) Place the two things directly opposite to each other
and compare.

(3) Bring out the striking contrast by placing them
opposite to each other.

(4) Place them opposite to each other, directly compare
them to bring out similarities.

Options:
1.1
2.2
3.3

4.4

Question Number : 94 Question Id : 50521228123 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Pick the option which states the best meanings of the word
‘sporadic’ used in the passage

(1) happening at regular intervals

(2) happening at scattered and isolated places
(3) happening at a few places

(4) happening suddenly everywhere

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 50521228124 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Select the option that lists correctly the foundational
abilities of a student of class 2.

a. perform complete mathematical operations.
b. toread numbers up to 99.
c. to correctly respond to comprehension questions
d. to make correct inferences.
1. aandb
2. aandc
3. candd
4, bandc
Options:
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 50521228125 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What makes it possible for children to learn further?
Pick the best option to answer the question.

(1) ability to learn complex things easily

(2) already acquired foundational abilities of language
and mathematics

(3) ability to respond to comprehension questions based
on a language

(4) ability to acquire higher order thinking skills.

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 50521228126 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following words is opposite in meaning to the
word, ‘severely’ as used in the passage?

barely
mildly
casually
4. poorly

il

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 50521228127 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which part of the following sentence contains an error?

The members discussed about
(1) (2)

the arrangements for the annual event
(3) (4)

Options :

1.1

2.2

3.3

4.4

Question Number : 99 Question Id : 50521228128 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which part of speech is the underlined word in, “School
closures have significant negative impact on learning levels
of children”

Pronoun
Adverb
Adjective
4. Noun

I

Options :
1.1
2.2
3.3
4.4

Question Id : 50521228119 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension



Directions: Read the extract given below and answer the questions
follow by selecting the correct / most appropriate options: Language
2

Field Studies Loss of Learning During the Pandemic (extract)
Studies across the world have clearly indicated that school closures
have significant negative impact on learning levels of children, with
children from disadvantaged backgrounds being affected more
severely. The loss of learning is not simply the curricular learning
that children would have acquired if schools had remained open. It
includes the ability that children have forgotten due to lack of usage,
for example the ability to read with understanding, the ability to
write, and the ability to perform basic mathematical operations like
addition and multiplication. This regression further compromises
new learning since these abilities are foundational to all further
learning. This situation must be juxtaposed with the fact that we are
already facing a crisis in learning, particularly with respect to
foundational literacy and numeracy. At the time of writing this
report, schools have been closed for almost an entire academic
year. A child who was in class 1 in March 2020 will move to class 3 in
2021 without having engaged with the curriculum of class 2, except
through sporadic online or community-based engagements. Thus,

the loss of learning during the pandemic comprises the ‘forgetting/
regression’ of a proportion of abilities children already knew,
including the loss of foundational abilities that make it possible for
children to take up further learning, and the absence of curricular
learning for an entire academic year. Examples of foundational
abilities would be the ability to read numbers up to 99 in class 2 that
forms the basis of performing more complex mathematical
operations in higher classes. Similarly, for children in class 2, the
ability to respond to comprehension questions based on a story
forms the basis for acquiring higher order abilities related to reading
and writing. The absence of any one of these foundational abilities
manifests not only in the inability to acquire more complex abilities,
but also in a disconnect from learning, peers and schooling, often
causing children to drop out of school altogether.

Sub questions

Question Number : 91 Question Id : 50521228120 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Pick the correct option to give the reason for negative
impact of pandemic on education

Assertion (A) School closures have significant negative
impact on learning levels of children.

Reasoning ( R) Children have forgotten previous learnings
due to lack of use and not learnt skills and competencies of
current curriculum.

(1) Both A and R are true and R is the correct
explanation of A

(2) Both A and R are true and R is not the correct
explanation of A

(3)Ais true and R is false

(4) Ais false and R is true

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 50521228121 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Complete the sentence by choosing the correct option.
Loss of learning during the pandemic refers to

lack of ability to do the assigned job
forgetting completely what one has learnt
lack of ability to read with understanding
4. lack of interest in studies.

W N

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 50521228122 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

When you ‘juxtapose’ two things what do you do?

(1) Simply place them opposite to each other.

(2) Place the two things directly opposite to each other
and compare.

(3) Bring out the striking contrast by placing them
opposite to each other.

(4) Place them opposite to each other, directly compare
them to bring out similarities.

Options:
1.1
2.2
3.3

4.4

Question Number : 94 Question Id : 50521228123 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Pick the option which states the best meanings of the word
‘sporadic’ used in the passage

(1) happening at regular intervals

(2) happening at scattered and isolated places
(3) happening at a few places

(4) happening suddenly everywhere

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 50521228124 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Select the option that lists correctly the foundational
abilities of a student of class 2.

a. perform complete mathematical operations.
b. toread numbers up to 99.
c. to correctly respond to comprehension questions
d. to make correct inferences.
1. aandb
2. aandc
3. candd
4, bandc
Options:
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 50521228125 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What makes it possible for children to learn further?
Pick the best option to answer the question.

(1) ability to learn complex things easily

(2) already acquired foundational abilities of language
and mathematics

(3) ability to respond to comprehension questions based
on a language

(4) ability to acquire higher order thinking skills.

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 50521228126 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following words is opposite in meaning to the
word, ‘severely’ as used in the passage?

barely
mildly
casually
4. poorly

il

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 50521228127 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which part of the following sentence contains an error?

The members discussed about
(1) (2)

the arrangements for the annual event
(3) (4)

Options :

1.1

2.2

3.3

4.4

Question Number : 99 Question Id : 50521228128 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which part of speech is the underlined word in, “School
closures have significant negative impact on learning levels
of children”

Pronoun
Adverb
Adjective
4. Noun

I

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 5052121617

Question Shuffling Allowed : Yes

Question Id : 50521228129 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension



Directions: Read the extract given below and answer the questions
that follow by selecting the correct / most appropriate options:

1. | come from haunts of coot and hern.
| make a sudden sally
And sparkle out among the fern,
To bicker down a valley.

2. By thirty hills | hurry down,
Or slip between the ridges,
By twenty thorpes, a little town,
And half a hundred bridges.

3. Till last by Philip’s farm | flow
To join the brimming river,
For men may come and men may go,
But | go on forever.

4. | chatter over stony ways,
In little sharps and trebles,
| bubble into eddying bays,
| babble on the pebbles.

5. With many a curve my banks | fret
By many a field and fallow,
And many a fairy foreland set
With willow-weed and mallow.

Sub questions

Question Number : 100 Question Id : 50521228130 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

|dentify and name the figure of speech used in the line, ‘I
come from haunts of coot and hern’.

Metaphor
Synecdoche
Personification
4. Hyperbole

il ol

Options :

1.1



2.2
3.3
4.4

Question Number : 101 Question Id : 50521228131 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The brook chatters over stony ways

noiselessly

in little sharps and trebles
in a meandering fashion
4. gleefully

sl il

Options:
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 50521228132 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is Not True according to the poem?

The brook chatters over stony ways.

Man is mortal and Nature is eternal.

The brook will finally join the brimming river

Man may go and come anywhere and everywhere

P Lk B b

Options :
1.1
2.2
3.3
4.4



Question Number : 103 Question Id : 50521228133 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The line ‘I make a sudden sally’ means :

1. | flow evenly
2. | flow by fits and starts
3. |leap enthusiastically
4. | move in a zig zag manner
Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 50521228134 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Where is the brook headed for?

Philip’s farm

a valley

the brimming river
fields and bays

P Ll B P

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 50521228135 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Identify and name the figure of speech used in ‘with
willow-weed’ in stanza 57

Hyperbole
Alliteration
Metaphor
4, Metonymy

Ll

Options:
1.1
2.2
3.3
4.4

Question Id : 50521228129 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension



Directions: Read the extract given below and answer the questions
that follow by selecting the correct / most appropriate options:

1. | come from haunts of coot and hern.
| make a sudden sally
And sparkle out among the fern,
To bicker down a valley.

2. By thirty hills | hurry down,
Or slip between the ridges,
By twenty thorpes, a little town,
And half a hundred bridges.

3. Till last by Philip’s farm | flow
To join the brimming river,
For men may come and men may go,
But | go on forever.

4. | chatter over stony ways,
In little sharps and trebles,
| bubble into eddying bays,
| babble on the pebbles.

5. With many a curve my banks | fret
By many a field and fallow,
And many a fairy foreland set
With willow-weed and mallow.

Sub questions

Question Number : 100 Question Id : 50521228130 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

|dentify and name the figure of speech used in the line, ‘I
come from haunts of coot and hern’.

Metaphor
Synecdoche
Personification
4. Hyperbole

il ol

Options :

1.1



2.2
3.3
4.4

Question Number : 101 Question Id : 50521228131 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The brook chatters over stony ways

noiselessly

in little sharps and trebles
in a meandering fashion
4. gleefully

sl il

Options:
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 50521228132 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is Not True according to the poem?

The brook chatters over stony ways.

Man is mortal and Nature is eternal.

The brook will finally join the brimming river

Man may go and come anywhere and everywhere

P Lk B b

Options :
1.1
2.2
3.3
4.4



Question Number : 103 Question Id : 50521228133 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The line ‘I make a sudden sally’ means :

1. | flow evenly
2. | flow by fits and starts
3. |leap enthusiastically
4. | move in a zig zag manner
Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 50521228134 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Where is the brook headed for?

Philip’s farm

a valley

the brimming river
fields and bays

P Ll B P

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 50521228135 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Identify and name the figure of speech used in ‘with
willow-weed’ in stanza 57

Hyperbole
Alliteration
Metaphor
4, Metonymy

Ll

Options:
1.1
2.2
3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 5052121618

Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 50521228136 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

It a teacher wants to help students learn vocabulary, which would be the most effective way!

1. Use of stories and imagery
2. Use of drilling

3. Use of written exercise

4. Use of texthooks

Options:
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 50521228136 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



If a teacher wants to help students learn vocabulary, which would be the most effective way!

1. Use of stories and imagery
2. Use of drilling

3. Use of written exercise

4. Use of textbooks

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 50521228137 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Multilingualism as a resource education aims at......

making use of languages of learner’s for teaching — learning.

making learners learn as many languages as possible.

using classical languages for teaching — learning.

enabling to learn English language for jobs and mother tongue for culture.

Lo

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 50521228137 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Multilingualism as a resource education aims at......

making use of languages of learner’s for teaching — learning.

making learners learn as many languages as possible.

using classical languages for teaching — learning.

enabling to learn English language for jobs and mother tongue for culture.

Lo



Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 50521228138 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

comprehension is the skill of reading a piece of text closely or intensely for the purpose of
extracting specific information from the text.

1. Inferential
2. Global

3. local

4. Transactional

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 50521228138 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

comprehension is the skill of reading a piece of text closely or intensely for the purpose of
extracting specific information from the text.

1. Inferential
2. Global

3. local

4. Transactional

Options :
1.1
2.2



3.3
4.4

Question Number : 109 Question Id : 50521228139 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In the context of ‘theory of multiple intelligences’ which one of the following intelligences is related to language?

1. Fluency - Accuracy Intelligence

2. Linguistic - Verbal Intelligence

3. Vocabulary Grammar Intelligence
4, Visual-Spatial Intelligence

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 50521228139 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In the context of ‘theory of multiple intelligences’ which one of the following intelligences is related to language?

1. Fluency - Accuracy Intelligence

2. Linguistic - Verbal Intelligence

3. Vocabulary Grammar Intelligence
4, Visual-Spatial Intelligence

Options:
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 50521228140 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of these may be the benefit of multilingualism?

(i) Increase vocabulary and effective speech

(ii) Tolerance and respect toward other cultures
(iii) Restricted employment opportunities

(iv)  Meta — linguistic awareness

. (), (i), (iii)
. (i), (iii)

- (i), (i)

- (i), (i), (iv)

Options :

[

I

1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 50521228140 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of these may be the benefit of multilingualism?

(i) Increase vocabulary and effective speech

(ii) Tolerance and respect toward other cultures
(iii) Restricted employment opportunities

(iv)  Meta —linguistic awareness

- (1), (i), (i)
(i), (i)

- (i), (i)

- (), (i), (iv)

Options :

[

B

1.1
2.2
3.3



4.4

Question Number : 111 Question Id : 50521228141 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to Vygotsky, when a child regulates his / her own action with the help of language but that language is not
audible to others he /she involved in...........

1. inner speech

2. private speech

3. social speech

4. egocentric speech

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 50521228141 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to Vygotsky, when a child regulates his / her own action with the help of language but that language is not
audible to others he /she involved in...........

1. inner speech

2. private speech

3. social speech

4. egocentric speech

Options :
1.1
2.2
3.3
4.4



Question Number : 112 Question Id : 50521228142 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which branch of linguistics deals with the language in context?

Semantics
Pramatics
Morphology
4. Phonetics

Lk Dk

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 50521228142 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which branch of linguistics deals with the language in context?

Semantics
Pramatics
Morphology
4. Phonetics
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Options :
1.1
2.2
3.3
4.4
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Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Consider the statements ( A) and ( B) regarding language development among infants.

(A) In infancy vocal tracts of a baby are more like animal than an adult human's
(B) During 6 to 12 months, a baby is involved in variegated bubbling and repetitive babbling

1. (A)istrue, ( B)is false.
2. (A)isfalse, ( B) is false.
3. Both(A)and (B)are true
4. Both (A)and (B) are false

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 50521228143 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Consider the statements ( A) and ( B) regarding language development among infants.

(A) In infancy vocal tracts of a baby are more like animal than an adult human's
(B) During 6 to 12 months, a baby is involved in variegated bubbling and repefitive babbling

1. (A)istrue, (B)is false.
2. (A)isfalse, ( B) is false.
3. Both(A)and (B)are true
4, Both (A)and (B) are false

Options :
1.1
2.2
3.3
4.4
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)

A dialect passes through these stages to get the status of ‘standard dialect’.

selection, codification, elaboration of functions and acceptance
selection, acceptance , codification and elaboration of functions
selection, elaboration of functions, codification and acceptance
4. selection, acceptance , codification and elaboration of functions

L B e

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 50521228144 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A dialect passes through these stages to get the status of ‘standard dialect’.

selection, codification, elaboration of functions and acceptance
selection, acceptance , codification and elaboration of functions
selection, elaboration of functions, codification and acceptance
4. selection, acceptance , codification and elaboration of functions

L B e

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 50521228145 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Consider the statements ( A) and ( B) regarding dialect.
A. Avariety of language, spoken in one part of a Country is known as regional dialect
. Avariety of language used only by the people having similar education background is known as social dialect.

[

. (A)istrue, ( B) is false.
. (A)isfalse, ( B) s true.
. Both (A)and (B ) are true
. Both (A)and (B) are false

B o

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 50521228145 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Consider the statements ( A) and ( B) regarding dialect.
A. Avariety of language, spoken in one part of a Country is known as regional dialect
. Avariety of language used only by the people having similar education background is known as social dialect.

[

. (A)istrue, ( B) is false.
. (A)isfalse, ( B)is true.
. Both (A)and (B) are true
. Both (A) and (B) are false

B R o B

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 50521228146 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



To wife : Hurry up, we'll be late.

To colleague : It's time to leave, we'll be late for meeting

To senior manager : Madam, it’s 4 PM and the meeting is at
4:15PM, shouldn’t we leave?

This variation in speech is also known as:

Purist

Standard variety
Register

4. Idiolect

o e

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 50521228146 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

To wife : Hurry up, we'll be late.

To colleague : It's time to leave, we'll be late for meeting

To senior manager : Madam, it’s 4 PM and the meeting is at
4:15PM, shouldn’t we leave?

This variation in speech is also known as:

Purist

Standard variety
Register

4. Idiolect

o e

Options :
1.1
2.2
3.3
4.4



Question Number : 117 Question Id : 50521228147 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

For participating in a group debate, a language teacher puts one condition i.e. in a group, 4 students should be from
junior class and 1 students should be from senior class, who can assist juniors whenever required. This idea of group
foundation depends on

1. Piaget's Theory

2. \lygotsky's Theory
3. Bloomfield’s Theory
4. Krashen's Theory

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 50521228147 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

For participating in a group debate, a language teacher puts one condition i.e. in a group, 4 students should be from
junior class and 1 students should be from senior class, who can assist juniors whenever required. This idea of group
foundation depends on

1. Piaget's Theory

2. \lygotsky's Theory
3. Bloomfield’s Theory
4, Krashen's Theory

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 50521228148 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Being a teacher, what would you like to prefer if any student has shown disruptive behaviour during group
presentation?

1. Yell at him / her in front of the group / class

2. Speak to him / her in the class

3. Talk with him / her in the class

4. Leave him/her and look forward to self-discipline

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 50521228148 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Being a teacher, what would you like to prefer if any student has shown disruptive behaviour during group
presentation?

1. Yell at him / her in front of the group / class

2. Speak to him / her in the class

3. Talk with him / her in the class

4. Leave him/her and look forward to self-discipline

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 50521228149 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A set of assumptions which explains the language as a set of structure or rules is known as

1. Communicative Approach
2. Interactive Approach

3. Structural Approach

4. Input Approach

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 50521228149 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A set of assumptions which explains the language as a set of structure or rules is known as

1. Communicative Approach
2. Interactive Approach

3. Structural Approach

4. Input Approach

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 50521228150 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Consider the statements ( A) and ( B) regarding communicative language teaching.
(A) The role of teacher is just like a facilitator or monitor rather than simply being the model for correct speech.
(B) Learners have to parficipate in classroom activities based on individual approach to learning.

1. (A)istrue, (B)is false.
2. (A)isfalse, (B) is true.
3. Both (A} and (B)are true
4, Both (A)and (B ) are false

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 50521228150 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Consider the statements ( A) and ( B) regarding communicative language teaching.
(A) The role of teacher is just like a facilitator or monitor rather than simply being the model for correct speech.
(B) Learners have to parficipate in classroom activities based on individual approach to learning.

1. (A)istrue, (B)is false.
2. (A)isfalse, (B) is true.
3. Both (A)and (B)are true
4. Both (A)and (B ) are false

Options :
1.1
2.2
3.3
4.4
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Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1.1
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1.1
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1.1
2.2
3.3
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2.2
3.3
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Options :
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